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because in 2 steps you can reach any state from any other &
periodic = 2, you alternate between 1/3 en 2/4
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because in 2 steps you can reach any state from any other & 
periodic = 2, you alternate between 1/3 en 2/4
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Qa: Describe the difference between a model-based approach and a model-free approach (for the model-free approach, cite the
two subfamilies of approaches).
A: Model-free is a direct approach and makes use of either value-based or policy-based learning. Model-based is an indirect
approach that requires planning.

Qb. Similarly to supervised learning, the suboptimality (on the expected return) of an RL policy learned based on limited data can
be decomposed into two terms. Cite these two terms and explain what they mean.
A: overfitting is the error term that drops to O if we have an infinite amount of data and the asymptotic bias is the bias introduced by
the learning algorithm.

Qc. What are the two conditions for tabular Q-learning to converge (in the online setting)?
A: It converges w.p.1 to the optimal Q-function as long as
(i) $\sum_t \alpha_t = \infty$ and $\sum_t \alpha_t"2 <\infty$, and
(ii) the exploration policy $\pi$ is such that $P_\pi[a_t = a | x_t = x] > 0, \forall (x, a)$.

Q_d. What is the specificity of the REINFORCE algorithm within the family of policy based methods
A: the Reinforce algorithm estimates the expected return with on-policy rollouts
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